AIZAIDF AT

E AR SFO1M> RV K= 2B U12
(BEEDT>F >/ iEA)

AT = = 4 .
1[18|1FA BA N\O=-ZR-YTS S |10 4-0 4-1 2-0| 14
2| | TR ER SIRT=2t>5— | BiE(10] 0-4 4-3 1-1| 2f
3| =18 & F-I3P9E gH(12] 1-4 3-4 0-2| 3
4

BJ0 2 20 = 0
1{ss| ZFEAK 5AK B (11 4-2 4-0 2-0| 141
2= B0 A N—425>7=2457 | |10 2 - 4 4-0 1-1| 2fz
3| EAE BEJT  [TiRT=2E>4- [ B|E|10] 0 - 4 0-4 0-2| 3f
4
1|ess| FHER £ STVHFZ2NE | B 9 4-1 2-4 1-1| 3Mu
2 || BT FHA 125-F23F B 1-4 2-4 |0-2| 441
3|7 | Ay Bhia FZ2egg<3lt BE(100 4-2 0-4 |1-1| 24I
4 (79| AT FEARER |FoeIFT S| 9 4 -2 4-0 2-0| 14z
Ub—)L -SR] (S>> A Mg )
TR NBAIRI N—F X MRATROES, 1,26 N—F AN 3,46 —FX0h  ChLEBREEN,

4 ANV-JDIFEF1vs2-3vs4/1vs3 - 2vsd/ D2 EZITVET .

NBACRTETS AR OBEN QEIEAR OBKRE @T>F) DIEETRELET.

TR 45— L TR T-SHROFTE
A 65— AT RIS T-SHROFTE



http://www.spojin.com/ranking/pdf/20160201ranking.pdf
http://www.spojin.com/ranking/pdf/20160201ranking.pdf
http://www.spojin.com/ranking/pdf/20160201ranking.pdf
http://www.spojin.com/ranking/pdf/20160201ranking.pdf

2929 DE ANy T
Kb STAA>R7 K= 2R U12

-y

SISV

1,22 b= X2 b 3,40Ib=F A B

BN BA 1EH =
J\O—ZR-YTS FZIZE
1BH =
- 61
bye FREF BN
A2—=F23F)
K B A 1BH =
. 62 62
BO E£A He A
425252457 INITVHFZ2INE
BEO EA HF 3
- 61 . 60
e Bhia =g BEJIT
TZRegg<dlE STIRT—2t>49—
A BA
62
AT EKER
ToeIFT
AT EKER
. 61
i 3R
STIRT At A—
At EARER
61
bye

AR AR




op
Sy

(12 T DEF]
B : 5k BA EF
MBS : chAY ARD BT




